

## SOLVED EXAMPLES

**Ex.1**  $\int_0^1 \frac{6x^2 + 1}{4x^3 + 2x + 3} dx$  is equal to-

(A)  $-\frac{1}{2} \log 3$                       (B)  $\frac{1}{2} \log 3$

(C)  $2 \log 3$                       (D) None of these

**Sol.** Let  $4x^3 + 2x + 3 = t \quad \therefore 2(6x^2 + 1)dx = dt$   
Limits - at  $x = 0; t = 3$ , at  $x = 1; t = 9$

$$\begin{aligned} \therefore I &= \int_3^9 \frac{1}{2} \frac{dt}{t} = \frac{1}{2} [\log t]_3^9 \\ &= \frac{1}{2} [\log 9 - \log 3] = \frac{1}{2} \log 3 \quad \text{Ans. [B]} \end{aligned}$$

**Ex.2**  $\int_0^1 \frac{x}{1+x^4} dx$  is equal to -

(A)  $\frac{\pi}{2}$                       (B)  $\frac{\pi}{4}$                       (C)  $\frac{\pi}{8}$                       (D)  $\pi$

**Sol.**  $I = \frac{1}{2} \int_0^1 \frac{2x}{1+(x^2)^2} dx$

$$\begin{aligned} &= \frac{1}{2} [\tan^{-1} x^2]_0^1 \\ &= \frac{1}{2} [\tan^{-1} 1 - \tan^{-1} 0] \\ &= \frac{1}{2} \left[ \frac{\pi}{4} - 0 \right] = \frac{\pi}{8} \quad \text{Ans. [C]} \end{aligned}$$

**Ex.3**  $\int_2^4 \frac{\sqrt{x^2 - 4}}{x} dx$  is equal to

(A)  $2(3\sqrt{3} - \pi)$                       (B)  $2\sqrt{3} - \pi$   
(C)  $\frac{2}{3}(3\sqrt{3} - \pi)$                       (D)  $\pi$

**Sol.** Put  $x = 2 \sec t$ , then

$$\begin{aligned} I &= \int_0^{\pi/3} \frac{2 \tan t}{2 \sec t} \cdot 2 \sec t \tan t dt \\ &= 2 \int_0^{\pi/3} \tan^2 t dt \\ &= 2 \int_0^{\pi/3} (\sec^2 t - 1) dt = 2[\tan t - t]_0^{\pi/3} \\ &= 2[\sqrt{3} - \pi/3] = \frac{2}{3}(3\sqrt{3} - \pi) \quad \text{Ans. [C]} \end{aligned}$$

**Ex.4**  $\int_0^{\pi^2/4} \frac{\sin \sqrt{x}}{\sqrt{x}} dx$  is equal to

(A) 2                      (B) 1  
(C)  $\pi/4$                       (D)  $\pi^2/8$

**Sol.**  $\sqrt{x} = t, \frac{1}{\sqrt{x}} dx = 2dt$

$$\therefore I = 2 \int_0^{\pi/2} \sin t dt = 2(-\cos t)_0^{\pi/2} = 2(0 + 1) = 2$$

Ans. [A]

**Ex.5** If  $f(x) = \begin{cases} 2x+1, & 0 < x < 1 \\ x^2+2, & 1 \leq x < 2 \end{cases}$ , then the value of

$\int_0^2 f(x) dx$  is-

(A)  $-\frac{19}{3}$                       (B)  $\frac{19}{3}$   
(C)  $\frac{3}{19}$                       (D) None of these

**Sol.**  $\int_0^2 f(x) dx = \int_0^1 f(x) dx + \int_1^2 f(x) dx$

$$\begin{aligned} &= \int_0^1 (2x+1) dx + \int_1^2 (x^2+2) dx \\ &= [x^2 + x]_0^1 + \left[ \frac{x^3}{3} + 2x \right]_1^2 \\ &= 2 - 0 + \left( \frac{20}{3} - \frac{7}{3} \right) = \frac{19}{3} \end{aligned}$$

Ans. [B]

**Ex.6**  $\int_0^{\pi/2} \log \sin x dx$  is equal to-

(A)  $\frac{\pi}{2} \log 2$                       (B)  $-\frac{\pi}{2} \log 2$   
(C)  $\frac{\pi}{2} \log_{10} 2$                       (D)  $-\frac{\pi}{2} \log_{10} 2$

**Sol.**  $I = \int_0^{\pi/2} \log \sin x dx \quad \dots(1)$

$I = \int_0^{\pi/2} \log \cos x dx$  (by p-4)  $\dots(2)$

$$\therefore 2I = \int_0^{\pi/2} \log (\sin x \cos x) dx$$

$$\begin{aligned}
 &= \int_0^{\pi/2} \log\left(\frac{\sin 2x}{2}\right) dx \\
 &= \int_0^{\pi/2} \log \sin 2x \, dx - \frac{\pi}{2} \log 2 \\
 &= \frac{1}{2} \int_0^{\pi} \log \sin t \, dt - \frac{\pi}{2} \log 2,
 \end{aligned}$$

where  $t = 2x$

$$= 2 \frac{1}{2} \int_0^{\pi/2} \log \sin t \, dt - \frac{\pi}{2} \log 2 = 1 - \frac{\pi}{2} \log 2$$

$$\Rightarrow I = -\frac{\pi}{2} \log 2 \quad \text{Ans. [B]}$$

**Ex.7**  $\int_0^{\pi/2} \frac{\sqrt{\sin x}}{\sqrt{\sin x} + \sqrt{\cos x}} dx$  is equal to

- (A)  $\pi/2$  (B)  $\pi/4$   
 (C)  $\pi$  (D)  $2\pi$

**Sol.** Using prop. P-4, we have

$$I = \int_0^{\pi/2} \frac{\sqrt{\cos x}}{\sqrt{\cos x} + \sqrt{\sin x}} dx$$

Adding it to given integral we have

$$2I = \int_0^{\pi/2} dx = [x]_0^{\pi/2} = \pi/2$$

$$\therefore I = \pi/4 \quad \text{Ans. [B]}$$

**Ex.8** If  $f(x)$  is an odd function of  $x$ , then

$$\int_{-\pi/2}^{\pi/2} f(\cos x) dx \text{ is equal to}$$

- (A) 0 (B)  $\int_0^{\pi/2} f(\cos x) dx$

- (C)  $2 \int_0^{\pi/2} f(\sin x) dx$  (D)  $\int_0^{\pi} f(\cos x) dx$

**Sol.** Here  $f(\cos x)$  will be even function of  $x$ ,

$$I = \int_{-\pi/2}^{\pi/2} f(\cos x) dx = 2 \int_0^{\pi/2} f(\cos x) dx$$

$$= 2 \int_0^{\pi/2} f(\sin x) dx \quad \text{Ans. [C]}$$

**Ex.9** The value of the integral

$$\int_{-4}^4 (ax^3 + bx + c) dx \text{ depend on-}$$

- (A)  $b$  and  $c$  (B)  $a$ ,  $b$  and  $c$   
 (C) only  $c$  (D)  $a$  and  $c$

**Sol.**  $I = \int_{-4}^4 (ax^3 + bx) dx + \int_{-4}^4 c dx$   
 $= 0 + 2 \int_0^4 c dx$  (by P-5)  
 $= 2c[x]_0^4 = 8c$

Hence the value of  $I$  depends on  $c$ .

**Ans. [C]**

**Ex.10** If  $f(x) = \frac{x \cos x}{1 + \sin^2 x}$ , then  $\int_{-\pi}^{\pi} f(x) dx$  equals-

- (A)  $\pi/4$  (B)  $\pi/2$   
 (C)  $\pi$  (D) 0

**Sol.** Since  $f(-x) = \frac{-x \cos(-x)}{1 + \sin^2(\pi - x)}$

$$= \frac{-x \cos x}{1 + \sin^2 x} = -f(x)$$

$$\therefore I = \int_{-\pi}^{\pi} f(x) dx = 0 \quad \text{Ans. [D]}$$

**Ex.11**  $\int_0^{\pi/2} \sin^2 x \cos^3 x dx$  equals-

- (A) 1 (B)  $2/5$   
 (C)  $2/15$  (D)  $4/15$

**Sol.** Using Walli's formula, we get

$$I = \frac{1.2}{5.3.1} = \frac{2}{15} \quad \text{Ans. [C]}$$

**Ex.12**  $\int_{\pi/4}^{3\pi/4} \frac{\phi}{1 + \sin \phi} d\phi$  equals-

- (A)  $\pi(\sqrt{2} - 1)$  (B)  $\pi(\sqrt{2} + 1)$   
 (C)  $\pi(2 - \sqrt{2})$  (D) None of these

**Sol.**  $I = \int_{\pi/4}^{3\pi/4} \frac{\phi}{1 + \sin \phi} d\phi \quad \dots(1)$

$$\Rightarrow I = \int_{\pi/4}^{3\pi/4} \frac{\pi - \phi}{1 + \sin(\pi - \phi)} d\phi \quad \text{(by P-8)}$$

$$= \int_{\pi/4}^{3\pi/4} \frac{\pi - \phi}{1 + \sin \phi} d\phi \quad \dots(2)$$

$$2I = \int_{\pi/4}^{3\pi/4} \frac{\pi}{1 + \sin \phi} d\phi = \pi \int_{\pi/4}^{3\pi/4} \frac{1 - \sin \phi}{\cos^2 \phi} d\phi$$

$$= \pi [\tan \phi - \sec \phi]_{\pi/4}^{3\pi/4} = 2\pi (\sqrt{2} - 1)$$

$$I = \pi(\sqrt{2} - 1) \quad \text{Ans.}[A]$$

**Ex.13**  $\int_{\pi/4}^{3\pi/4} \frac{dx}{1 + \cos x}$  is equal to-

- (A) 2 (B) -2  
(C) 1/2 (D) -1/2

**Sol.** By property [P-8]

$$I = \int_{\pi/4}^{3\pi/4} \frac{dx}{1 + \cos x(\pi - x)} = \int_{\pi/4}^{3\pi/4} \frac{dx}{1 - \cos x}$$

Adding it with the given integral

$$2I = \int_{\pi/4}^{3\pi/4} \frac{2dx}{1 - \cos^2 x} = 2 \int_{\pi/4}^{3\pi/4} \operatorname{cosec}^2 x dx$$

$$= -2 [\cot x]_{\pi/4}^{3\pi/4} = 4$$

$$\Rightarrow I = 2 \quad \text{Ans.}[A]$$

**Ex.14** The value of  $\int_0^{\pi/2} \sin^3 x dx$  is -

- (A) 2/3 (B) 3/2 (C) 0 (D) 4π/3

**Sol.** We have  $I = \int_0^{\pi/2} \sin^3 x dx = \frac{(3-1)}{3} \cdot 1$

$$= 2/3. (\text{Since } n = 3 \text{ is odd}).$$

**Ans.}[A]**

**Ex.15**  $\lim_{n \rightarrow \infty} \left[ \frac{n+1}{n^2+1^2} + \frac{n+2}{n^2+2^2} + \dots + \frac{1}{n} \right]$  is equal to-

- (A)  $\frac{\pi}{4} + \frac{1}{2} \log 2$  (B)  $\frac{\pi}{4} - \frac{1}{2} \log 2$   
(C)  $\frac{\pi}{4} - 2 \log \frac{1}{2}$  (D) None of these

**Sol.** 
$$T_r = \frac{n+r}{n^2+r^2} = \frac{1}{n} \left[ \frac{1 + \frac{r}{n}}{1 + \left(\frac{r}{n}\right)^2} \right]$$

$$\therefore \text{given limit} = \int_0^1 \frac{1+x}{1+x^2} dx$$

$$= \left[ \tan^{-1} x \right]_0^1 + \left[ \frac{1}{2} \log(1+x^2) \right]_0^1$$

$$= \frac{\pi}{4} + \frac{1}{2} \log 2$$

**Ans.}[A]**

**Ex.16**  $\int_0^{\infty} \frac{x^3}{(1+x^2)^{9/2}} dx$  is equal to-

- (A) 2/35 (B) 3/35  
(C) 4/35 (D) None of these

**Sol.** Put  $x = \tan t$ , then

$$I = \int_0^{\pi/2} \frac{\tan^3 t}{\sec^9 t} \sec^2 t dt = \int_0^{\pi/2} \sin^3 t \cos^4 t dt$$

$$= \frac{2.3.1}{7.5.3.1} = \frac{2}{35}$$

**Ans.}[A]**

**Ex.17**  $\int_0^{\infty} \frac{dx}{1+e^x}$  is equal to-

- (A)  $\log 2 - 1$  (B)  $\log 2$   
(C)  $\log 4 - 1$  (D)  $-\log 2$

**Sol.**  $I = \int_0^{\infty} \frac{e^{-x}}{e^{-x} + 1} dx = - \left[ \log(e^{-x} + 1) \right]_0^{\infty}$

$$= - [\log 1 - \log 2] = \log 2 \quad \text{Ans.}[B]$$

**Ex.18**  $\int_0^{\pi/2} \frac{\cos x - \sin x}{1 + \sin x \cos x} dx$  is equal to-

- (A) 0 (B) 1  
(C) π/2 (D) π/4

**Sol.** Using P-4, given integral becomes

$$I = \int_0^{\pi/2} \frac{\cos(\pi/2 - x) - \sin(\pi/2 - x)}{1 + \sin(\pi/2 - x)\cos(\pi/2 - x)} dx$$

$$= \int_0^{\pi/2} \frac{\sin x - \cos x}{1 + \cos x \sin x} dx = -I$$

$$\Rightarrow 2I = 0 \Rightarrow I = 0$$

**Ans.}[A]**

**Ex.19**  $\int_0^{\infty} \frac{x \log x}{(1+x^2)} dx$  equals

- (A) 0 (B)  $\log 7$   
(C)  $5 \log 13$  (D) None of these

**Sol.** Here

$$\int_0^{\infty} \frac{x \log x}{(1+x^2)^2} dx = \int_0^1 \frac{x \log x}{(1+x^2)^2} dx + \int_1^{\infty} \frac{x \log x}{(1+x^2)^2} dx$$

$$I = I_1 + I_2$$

Putting  $x = \frac{1}{t}$  in second integrand

$$dx = -\frac{1}{t^2} dt$$

$$\therefore I_2 = \int_1^0 \frac{\frac{1}{t} \log\left(\frac{1}{t}\right)}{\left(1 + \frac{1}{t^2}\right)^2} \left(-\frac{1}{t^2}\right) dt$$

$$= -\int_0^1 \frac{t \log t}{(1+t^2)^2} dt = -I_1$$

$$I = I_2 + I_1 = -I_1 + I_1 = 0$$

**Ans.[A]**

**Ex.20**  $\int_0^\pi x \sin^4 x dx$  is equal to-

- (A)  $3\pi/16$  (B)  $3\pi^2/16$   
 (C)  $16\pi/3$  (D)  $16\pi^2/3$

**Sol.**  $I = \int_0^\pi x \sin^4 x dx \quad \dots(1)$

$$I = \int_0^\pi (\pi - x) \sin^4(\pi - x) dx$$

$$I = \int_0^\pi (\pi - x) \sin^4 x dx \quad \dots(2)$$

$$\therefore 2I = \pi \int_0^\pi \sin^4 x dx$$

$$\Rightarrow 2I = \pi \int_0^\pi \sin^4 x dx \quad [\text{from property P-6}]$$

$$\Rightarrow I = \pi \cdot \frac{3.1}{4.2} \cdot \frac{\pi}{2} = \frac{3\pi^2}{16}$$

**Ans.[B]**

**Ex.21**  $\int_1^2 \log x dx$  equals-

- (A)  $2 \log 2$  (B)  $\log\left(\frac{2}{e}\right)$   
 (C)  $\log\left(\frac{4}{e}\right)$  (D) None of these

**Sol.**  $I = \int_1^2 1 \cdot \log x dx$  equals

(Integrating by parts by taking 1 as a second function)

$$= \{x \cdot \log x\}_1^2 - \int_1^2 \left(\frac{1}{x} \cdot x\right) dx$$

$$= (2 \log 2 - 1 \log 1) - [x]_1^2$$

$$= (2 \log 2 - 0) - (2 - 1)$$

$$= \log 4 - \log e = \log\left(\frac{4}{e}\right)$$

**Ans.[C]**

**Ex.22**  $\int_0^{\pi/2} \frac{2^{\sin x}}{2^{\sin x} + 2^{\cos x}} dx$  equals-

- (A) 2 (B)  $\pi$   
 (C)  $\frac{\pi}{4}$  (D)  $\frac{\pi}{2}$

**Sol.**  $I = \int_0^{\pi/2} \frac{2^{\sin x}}{2^{\sin x} + 2^{\cos x}} dx$

$$I = \int_0^{\pi/2} \frac{2^{\sin(\pi/2-x)}}{2^{\sin(\pi/2-x)} + 2^{\cos(\pi/2-x)}} dx$$

$$= \int_0^{\pi/2} \frac{2^{\cos x}}{2^{\cos x} + 2^{\sin x}} dx$$

$$2I = \int_0^{\pi/2} dx = \frac{\pi}{2} \Rightarrow I = \frac{\pi}{4}$$

**Ans.[C]**

**Ex.23**  $\int_0^x f(t) dt = x + \int_x^1 t f(t) dt$  then  $f(1)$  is equal to-

- (A)  $\frac{1}{2}$  (B) 0  
 (C) 1 (D)  $-\frac{1}{2}$

**Sol.**  $\int_0^x f(t) dt = x + \int_x^1 t f(t) dt$

$$\Rightarrow f(x) = 1 + (0 - xf(x)) \quad [\text{diff. w.r.t. } x]$$

$$\Rightarrow f(x) = 1 - xf(x)$$

$$\Rightarrow f(1) = 1 - 1 \cdot f(1)$$

$$\Rightarrow f(1) = \frac{1}{2}$$

**Ans.[A]**

**Ex.24** If  $f(3-x) = f(x)$  then  $\int_1^2 xf(x) dx$  equals-

(A)  $\frac{3}{2} \int_1^2 f(2-x) dx$       (B)  $\frac{3}{2} \int_1^2 f(x) dx$

(C)  $\frac{1}{2} \int_1^2 f(x) dx$       (D) None of these

**Sol.** Let  $x = 3 - y$

$$I = \int_2^1 (3-y)f(3-y)(-dy)$$

$$= \int_1^2 (3-x)f(3-x) dx$$

$$= \int_1^2 (3-x)f(x) dx \quad [\because f(3-x) = f(x)]$$

$$= 3 \int_1^2 f(x) dx - I$$

$$I = \frac{3}{2} \int_1^2 f(x) dx \quad \text{Ans. [B]}$$

**Ex.25**  $\int_0^1 \frac{x \sin^{-1} x}{\sqrt{1-x^2}} dx$  is equal to-

- (A)  $\pi/2$                       (B)  $\pi/4$   
 (C) 0                              (D) 1

**Sol.** Put  $\sin^{-1} x = t$ ,  $\frac{dx}{\sqrt{1-x^2}} = dt$  then

$$\therefore I = \int_0^{\pi/2} t \sin t dt = [t(-\cos t)]_0^{\pi/2} + [\sin x]_0^{\pi/2} = 1$$

**Ans. [C]**

**Ex.26** The value of the integral  $\int_0^{\pi/4} \frac{\sin \theta + \cos \theta}{9 + 16 \sin 2\theta} d\theta$  is

- (A)  $\log 3$                       (B)  $\log 2$   
 (C)  $\frac{1}{20} \log 3$                   (D)  $\frac{1}{20} \log 2$

**Sol.** Here

$$I = \int_0^{\pi/4} \frac{\sin \theta + \cos \theta}{9 + 16(\sin 2\theta + 1 - 1)} d\theta$$

$$= \int_0^{\pi/4} \frac{\sin \theta + \cos \theta}{25 - 16(1 - \sin 2\theta)} d\theta$$

$$= \frac{1}{16} \int_0^{\pi/4} \frac{\sin \theta + \cos \theta}{(25/16) - (\sin \theta - \cos \theta)^2} d\theta$$

$$= \frac{1}{16} \int_{-1}^0 \frac{dt}{(25/16) - t^2}, \text{ where } (\sin \theta - \cos \theta) = t$$

$$= \frac{1}{16} \times \frac{1}{2 \times 5/4} \left[ \log \frac{(5/4) + t}{(5/4) - t} \right]_{-1}^0$$

$$= \frac{1}{40} \left[ \log 1 - \log \frac{1/4}{9/4} \right] = \frac{1}{20} \log 3$$

**Ans. [C]**

**Ex.27**  $\int_{-\pi/2}^{\pi/2} \sin^2 x \cos^2 x (\sin x + \cos x) dx$  is equal to-

- (A) 2/15                      (B) 4/15  
 (C) 2/5                        (D) 8/15

**Sol.**  $I = \int_{-\pi/2}^{\pi/2} \sin^3 x \cos^2 x dx + \int_{-\pi/2}^{\pi/2} \sin^2 x \cos^3 x dx$   
 (by P-5)

$$= 0 + 2 \int_0^{\pi/2} \sin^2 x \cos^3 x dx$$

$$= 2 \cdot \frac{1.2}{5.3.1} = \frac{4}{15}$$

**Ans. [B]**

**Ex.28**  $\int_0^{2a} \frac{f(x)}{f(x) + f(2a-x)} dx$  is equal to-

- (A) a                              (B) -a  
 (C) 0                              (D) None of these

**Sol.** Using P-4, given integral becomes

$$I = \int_0^{2a} \frac{f(2a-x)}{f(2a-x) + f(x)} dx$$

Adding it with the given integral, we get

$$2I = \int_0^{2a} 1 dx = 2a \Rightarrow I = a \quad \text{Ans. [A]}$$

**Ex.29**  $\int_{-1}^{3/2} |x \sin \pi x| dx$  is equal to

- (A)  $\frac{4}{\pi}$                               (B)  $\frac{3}{\pi} + \frac{1}{\pi^2}$   
 (C)  $\frac{3}{\pi^2} + \frac{1}{\pi}$                       (D) None of these

**Sol.** Obviously

$$|x \sin \pi x| = \begin{cases} x \sin \pi x, & -1 < x < 1 \\ -x \sin \pi x, & 1 < x < 3/2 \end{cases}$$



(C)  $(\pi/2) \log 2$       (D)  $-(\pi/2) \log 2$

**Sol.** 
$$I = \int_0^{\pi/2} (2 \log \sin x - \log 2 \sin x \cos x) dx$$

$$= \int_0^{\pi/2} (2 \log \sin x - \log 2 - \log \sin x - \log \cos x) dx$$

$$= \int_0^{\pi/2} \log \sin x dx - \int_0^{\pi/2} \log 2 dx - \int_0^{\pi/2} \log \cos x dx$$

$$= -(\pi/2) \log 2. \quad \text{Ans. [D]}$$

**Ex.35** 
$$\int_0^{\pi/2} \frac{x \sin x \cos x}{\sin^4 x + \cos^4 x} dx$$
 equals-

(A)  $\frac{\pi^2}{8}$       (B)  $\frac{\pi^2}{16}$

(C)  $\frac{\pi^2}{4}$       (D)  $\frac{\pi^2}{2}$

**Sol.** 
$$I = \frac{\pi}{4} \int_0^{\pi/2} \frac{\sin x \cos x}{\sin^4 x + \cos^4 x} dx$$

$$= \frac{\pi}{8} \int_0^{\pi/2} \frac{2 \sin x \cos x}{(\sin^2 x)^2 + (1 - \sin^2 x)^2} dx$$

Assume  $\sin^2 x = t$

$\therefore 2 \sin x \cos x dx = dt$

$\therefore I = \frac{\pi}{8} \int \frac{dt}{t^2 + (1-t)^2}$

$$I = \frac{\pi}{8} \int \frac{dt}{2t^2 - 2t + 1}$$

$$= \frac{\pi}{16} \int \frac{dt}{\left(t - \frac{1}{2}\right)^2 + \frac{1}{4}}$$

$$= \frac{\pi}{16} \cdot \frac{1}{\left(\frac{1}{2}\right)} \tan^{-1} \left[ \frac{\left(t - \frac{1}{2}\right)}{\frac{1}{2}} \right]$$

$$= \frac{\pi}{8} [\tan^{-1}(2 \sin^2 x - 1)]_0^{\pi/2}$$

$$= \frac{\pi}{8} [\tan^{-1}(1) - \tan^{-1}(-1)]$$

$$= \frac{\pi}{8} \left[ \frac{\pi}{4} - \left(-\frac{\pi}{4}\right) \right] = \frac{\pi^2}{16}$$

**Ans. [B]**

**Ex. 36** 
$$\int_0^{\pi/2} |\sin x - \cos x| dx$$
 equals-

(A)  $2\sqrt{2}$       (B)  $2(\sqrt{2} + 1)$

(C)  $2(\sqrt{2} - 1)$       (D) 0

**Sol.**  $\therefore |\sin x - \cos x|$   

$$= \begin{cases} -(\sin x - \cos x), & 0 < x < \pi/4 \\ (\sin x - \cos x), & \pi/4 < x < \pi/2 \end{cases}$$

$\therefore I = \int_0^{\pi/4} -(\sin x - \cos x) dx + \int_{\pi/4}^{\pi/2} (\sin x - \cos x) dx$

$$= [\cos x + \sin x]_0^{\pi/4} + [-\cos x - \sin x]_{\pi/4}^{\pi/2}$$

$$= \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}} - 1 - 1 + \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}}$$

$$= 2\sqrt{2} - 2$$

**Ans. [C]**

**Ex.37** The value of 
$$\lim_{x \rightarrow 0} \frac{\int_0^x \cos t^2 dt}{x}$$
 is-

(A) 0

(B) 1

(C) -1

(D) None of these

**Sol.** Let  $f(x) = \int_0^x \cos t^2 dt$  and  $g(x) = x$ ,

then  $f(0) = g(0) = 0$

$\therefore \lim_{x \rightarrow 0} \frac{f(x)}{g(x)} = \lim_{x \rightarrow 0} \frac{f'(x)}{g'(x)}$

$\therefore$  Given limit 
$$= \lim_{x \rightarrow 0} \frac{\cos x^2 \cdot 1 - \cos 0 \cdot 0}{1}$$

$$\left[ \text{since } \frac{d}{dx} \int_{\phi(x)}^{\psi(x)} f(t) dt = \int_{\phi(x)}^{\psi(x)} \frac{d}{dx} (f(t)) dt \right]$$

$$= f(\psi(x))\psi'(x) - f\{(\phi(x))\phi'(x)\}$$

$\therefore$  Given limit

$= \cos 0 = 1.$

**Ans. [B]**

**Ex.38** If  $n \in \mathbb{Z}$ , then

$$\int_0^{\pi} e^{\sin^2 x} \cos^3(2n+1)x dx -$$

(A) -1

(B) 0

(C) 1

(D)  $\pi$

**Sol.** Let  $f(x) = e^{\sin^2 x} \cos^3(2n+1)x \, dx$   
 $\Rightarrow f(\pi-x) = e^{\sin^2(\pi-x)} \cos^3(2n+1)(\pi-x) \, dx$   
 $= -e^{\sin^2 x} \cos^3(2n+1)x$   
 $[\because (2n+1) \text{ is odd}]$   
 $= -f(x)$

So by P-8, I = 0 **Ans.[B]**

**Ex.39** The value of  $\int_{-1/2}^{1/2} \left[ \left( \frac{x+1}{x-1} \right)^2 + \left( \frac{x-1}{x+1} \right)^2 - 2 \right]^{1/2} dx$

equals-

- (A)  $\log(4/3)$  (B)  $2 \log(4/3)$   
 (C)  $4 \log(4/3)$  (D)  $-4 \log(4/3)$

**Sol.** Here

$$I = \int_{-1/2}^{1/2} \left[ \left( \frac{x+1}{x-1} - \frac{x-1}{x+1} \right)^2 \right]^{1/2} dx$$

$$= \int_{-1/2}^{1/2} \left| \frac{4x}{x^2-1} \right| dx = 2 \int_0^{1/2} \left| \frac{4x}{x^2-1} \right| dx$$

$$= 8 \int_0^{1/2} \frac{x \, dx}{1-x^2} = -4 \left[ \log(1-x^2) \right]_0^{1/2}$$

$$= -4 \log\left(\frac{3}{4}\right) = 4 \log\left(\frac{4}{3}\right) \quad \text{Ans.[C]}$$

**Ex.40**  $\int_0^1 \cot^{-1}(1-x+x^2) \, dx$  equals-

- (A)  $\frac{\pi}{2} + \log 2$  (B)  $\frac{\pi}{2} - \log 2$   
 (C)  $\pi - \log 2$  (D) None of these

**Sol.**  $I = \int_0^1 \tan^{-1}\left(\frac{1}{1-x-x^2}\right) dx$

$$= \int_0^1 \tan^{-1}\left(\frac{x+(1-x)}{1-x(1-x)}\right) dx$$

$$= \int_0^1 [\tan^{-1} x + \tan^{-1}(1-x)] dx$$

$$= \int_0^1 \tan^{-1} x \, dx + \int_0^1 \tan^{-1}(1-x) \, dx$$

$$= 2 \int_0^1 \tan^{-1} x \, dx \quad \text{[By prov. IV]}$$

$$= 2 \left[ x \tan^{-1} x - \frac{1}{2} \log(1+x^2) \right]_0^1$$

$$= 2 \frac{\pi}{4} - \log 2 = \frac{\pi}{2} - \log 2 \quad \text{Ans.[B]}$$

**Ex.41**  $\int_0^{\pi/4} (\sqrt{\tan x} + \sqrt{\cot x}) \, dx$  is equal to-

- (A)  $\pi/2$  (B)  $\pi/\sqrt{2}$   
 (C)  $-\pi/2$  (D)  $-\pi/\sqrt{2}$

**Sol.** Putting  $\tan x = t^2$ , then

$$\sec^2 x \, dx = 2t \, dt \Rightarrow dx = \frac{2t \, dt}{1+t^4}$$

$$\therefore I = \int_0^1 \left( t + \frac{1}{t} \right) \frac{2t \, dt}{1+t^4}$$

$$= 2 \int_0^1 \frac{t^2+1}{t^4+1} dt = 2 \int_0^1 \frac{1+1/t^2}{t^2+1/t^2} dt$$

$$= 2 \int_0^1 \frac{d(t-1/t)}{(t-1/t)^2+2}$$

$$= \sqrt{2} \left[ \tan^{-1} \frac{1}{\sqrt{2}} \left( t - \frac{1}{t} \right) \right]_0^1$$

$$= \sqrt{2} [\tan^{-1} 0 - \tan^{-1}(-\infty)]$$

$$= \sqrt{2} (\pi/2) = \pi/\sqrt{2} \quad \text{Ans.[B]}$$

**Ex.42** If  $g(x) = \int_0^x \cos^4 t \, dt$ , then  $g(x+\pi)$  is equal to-

- (A)  $g(x) + g(\pi)$  (B)  $g(x) - g(\pi)$   
 (C)  $g(x) g(\pi)$  (D)  $g(x)/g(\pi)$

**Sol.**  $g(x+\pi) = \int_0^{\pi+x} \cos^4 t \, dt$

$$= \int_0^{\pi} \cos^4 t \, dt + \int_{\pi}^{\pi+x} \cos^4 t \, dt \quad \text{[by P-3]}$$

$$= \int_0^{\pi} \cos^4 t \, dt + I_2$$

Now in  $I_2$ , put  $t = \pi + \theta$ , then

$$I_2 = \int_0^x \cos^4(\pi + \theta) \, d\theta$$

$$= \int_0^x \cos^4 \theta \, d\theta = \int_0^x \cos^4 t \, dt$$

$$\therefore g(x+\pi) = \int_0^{\pi} \cos^4 t \, dt + \int_0^x \cos^4 t \, dt$$

$$= g(x) + g(\pi) \quad \text{Ans.[A]}$$

**Ex.43**  $\int_{-\pi/2}^{\pi/2} \frac{\cos x}{1+e^x}$  is equal to-

- (A) 0 (B) 2  
 (C) 1 (D) None of these



**Sol.** 
$$I = \int_{-\pi/2}^0 \frac{\cos x}{1+e^x} dx + \int_0^{\pi/2} \frac{\cos x}{1+e^x} dx$$

$$= - \int_{\pi/2}^0 \frac{\cos y}{1+e^{-y}} dy + \int_0^{\pi/2} \frac{\cos x}{1+e^x} dx$$
 (putting  $x = -y$  in first integral)
 
$$= \int_0^{\pi/2} \frac{e^y \cos y}{1+e^y} dy + \int_0^{\pi/2} \frac{\cos x}{1+e^x} dx$$

$$= \int_0^{\pi/2} \frac{e^x \cos x}{1+e^x} dx + \int_0^{\pi/2} \frac{\cos x}{1+e^x} dx$$

$$= \int_0^{\pi/2} \frac{(e^x + 1) \cos x}{1+e^x} dx$$

$$= \int_0^{\pi/2} \cos x dx = [\sin x]_0^{\pi/2} = 1 \quad \text{Ans. [C]}$$

**Ex.44**  $\int_{-1}^1 \frac{\sin x - x^2}{3-|x|} dx$  is equal to-

(A) 0                      (B)  $2 \int_0^1 \frac{\sin x}{3-|x|} dx$

(C)  $\int_0^1 \frac{-2x^2}{3-|x|} dx$       (D)  $2 \int_0^1 \frac{\sin x - x^2}{3-|x|} dx$

**Sol.** 
$$I = \int_{-1}^1 \frac{\sin x - x^2}{3-|x|} dx$$

$$= \int_{-1}^1 \frac{\sin x}{3-|x|} dx - \int_{-1}^1 \frac{x^2}{3-|x|} dx$$

$$= 0 - 2 \int_0^1 \frac{x^2}{3-|x|} dx$$
 [ $\because \frac{\sin x}{3-|x|}$  is an odd and  $\frac{x^2}{3-|x|}$  is an even function]
 
$$= -2 \int_0^1 \frac{x^2}{3-|x|} dx \quad \text{Ans. [C]}$$

**Ex.45**  $\int_{-4}^{-5} e^{(x+5)^2} dx + 3 \int_{1/3}^{2/3} e^{9(x-2/3)^2} dx$  is equal to-

(A)  $e^5$                       (B)  $e^4$   
 (C)  $3e^2$                       (D) 0

**Sol.** Putting  $x = -t - 4$  in first integral and  $x = \frac{t}{3} + \frac{1}{3}$  in second integral

$$I_1 = \int_{-4}^{-5} e^{(x+5)^2} dx = - \int_0^1 e^{(-t+1)^2} dt = - \int_0^1 e^{(t-1)^2} dt$$

$$I_2 = 3 \int_{1/3}^{2/3} e^{9(x-2/3)^2} dx$$

$$= 3 \int_0^1 e^{9(t/3-1/3)^2} dt = \int_0^1 e^{(t-1)^2} dt$$

$$\therefore I = I_1 + I_2 = 0. \quad \text{Ans. [D]}$$

**Ex.46** Let  $f$  be a positive function. If

$$I_1 = \int_{1-k}^k x f\{x(1-x)\} dx$$

$$I_2 = \int_{1-k}^k f[x(1-x)] dx$$

where  $2k - 1 > 0$ , then the value of  $I_1 / I_2$  is equal to-

- (A) 2                              (B)  $k$   
 (C)  $1/2$                           (D) 1

**Sol.** Using property P - 8, we have

$$I_1 = \int_{1-k}^k (k+1-k-x) f[(k+1-k-x) \times (1-k-1+k+x)] dx$$

$$= \int_{1-k}^k (1-x) f[(1-x)(x)] dx$$

$$= \int_{1-k}^k f[x(1-x)] dx - \int_{1-k}^k x f[x(1-x)] dx$$

$$= I_2 - I_1$$

$$\Rightarrow 2I_1 = I_2 \therefore \frac{I_1}{I_2} = \frac{1}{2} \quad \text{Ans. [C]}$$

